o113

Jgoood od O

00 00 [-770000 f(z) =2200000000
7T o

RSy

k=1

0000000000000 {e*kez}0000000000000

?T‘l,_;

¥ cos kx (1)

goog
gooooon
e = cosf +isinf (2)
gdbbboooooooood
o0 (-0

= cos(—0) +isin(—0)

= cosf —isinf (3)
00 (2)0 (300000

¢ 4 e =2cos b
00000000 (2)00 3)0000

e — e % = 92isinf

gogbbobuoooobbbuoooobobod

i0 —if
cosf = % (4)

sinf =

00 4)0000600 ke0OOOOO

eikx + efik:p
coskx =
2



0000000000 ())oooooo
2 oo
™
§+Z

k=1

ggbbobooogboboooobobbooogoon

eik:r + efikz

??‘l%

N

T e 4 eikx+67ikx
e
k=1

k
k=1
7T2 - 2 ikx 2 —ikx
k=1
U - 2 k ik 2 —k)_i(—k)z
= 3—1-2{@( 1)%e +(—k)2(_1)( Jeil )}
k=1

—(=1DF k>0
Cp = k=0
—(=1DF k<0

n n

00 lim ZakDDD ZakDDDDDDDDDDD lim cheikmm

k=—n k=—o00 k=—n

goboooogd



